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Hello World! : Jgd) 8aagdl | dssaiy) 42l 32l (EEPIRRIREEY
Reading (Hello World!) :gou@ed| il :gnﬁ-ll| Cralil) :Ml|

(I.earning outcomes:
By the end of this worksheet, you will have:
1. read a passage about modern communications to answer specific questions.

t a8 () ¢S ABUan) ol dalgs B
Baane A e L Anaal) Jeal ) B b oo Las il .1

- J
—_

~

e gtie i) e g Lz D oY) Lsea

Modern communications are very important. They help us stay in contact with
people. Anna Torres said on a TV programme. " There are lots of bad TV programmes,
but weather forecasts are good. We get bad hurricanes here in America and they are
getting worse. Modern Satellites are collecting better information on their speed and
direction. So, weather forecasts are getting better. We now understand hurricanes
and we know when and where one will arrive".

_4' ¢ bl palll o AT Gans Ja aSilSal A Y1 @ gatias Ja L. Alal) e
© agre allsls AS)Lin aCiCay LS . aiBaaly Ailaia) aSiSay lands

Read the passage again, then answer the following questions:
1. What do modern satellites do?

---------------------------------------------------------------------------------------------------------------------------------------------

Read the passage again and tick (T.) or (F.):
1.( ) Anna Torres is American.

2.( )AIITV programmes are bad.
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Read the passage again and get:

1. The opposite of: worse X .......c.cccoevevvvveennn. ancient X ......coccevviviinneinienne s
2. The meaning of:intouch = ... tornado=.......cccccevereeenns

3. ATV Programme: ......ceeecveeevccnevee e,

4. The pronoun (they) refersto .....ccccceeeveeceeeneenns

5. The pronoun (one) refers to ......cceeeeeecceeeneenns

© sl Wi i
© aSuily gliia) .. agall adl) Jars alad 381

SOURCE: all the content and pictures are from textbook 2018
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Hello World! : Jgd) 8aaedl | dsiaiy) 42l 3ol (EENEIHRIREEY

Structure (Present Simple vs Continuous) :éou@éd) Gl ga godel| | ) e | |

/ Learning outcomes:

By the end of this worksheet, you will have:

1. learned how to use present simple tense properly.

2. learned how to use present continuous tense properly.

t 4B () ¢S ABUanl) sda dulgd A
esa JS o) & boaal) (e ) aadind oS Cialas L]
\ e S i) & hiaal) (e jpadied CaS Cualad L2

/ Ui O Blpde Olps ko @l o 35l 6 el Jaad] § Lall (yn pbciy \
1- They visit the library every week.

2- Sara always goes to school by bus.

Form: &luall 4iS

1. (She/He/It) + verb + -s/-es (2 el L3N AL>)
2. (She/He/It) + doesn’t + verb (22t adl Jl>)

3. Does + (she/he/it) + verb? (2,21 Jl §ud! D)
4. (They/We/You/l) + verb (o)l LY A>)

5. (They/We/You/l) + don’t + verb (el (21 A>)
6. Do + (they/we/you/l) + verb? (zoxd! Jlgud! 1)
Key word: dJIWI &l

kalways, often, sometimes, usually, every, never /

SpY:! ch‘al;)]\ oda gl POl g (§ Sus SlasT e el jeduw! ¢ Jaall an‘o.bﬁ.“u\
1- They are talking on the phone now.

2- Sami is chatting with his friends at the moment.
Form: dluall 4as

1.1+ am + verb + -ing (el d>)

2.1+ am not+ verb + -ing (@ )

3. (She/He/It) + is + verb + -ing (o2l LY UL>)
4. (She/He/lt) +isn’t + verb + -ing (2l (2l A>)
5. (They/We/You) + are + verb + -ing (poxl LY A>)

6. (They/We/You) + aren’t + verb + -ing (ol (a1 AL>)
Key word: d1W &SI

know, at the moment, look!, Listen!, these days, nowadays /
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Choose the correct answer:

1. The baby (sleeps —is sleeping — slept) at the moment .

2 .Salwa always (go - goes — is going) online in the evening.
3 .Nadia and Tina often (work - works - are working) a lot.
4. Look! It (rain — rains — is raining) outside.

Correct the underlined mistakes:

1. Children usually watches Tom & Jerry. (coreerrerrreee e, )
2 .Players play football now. (cererereenreereereereereereanas )
3 .l doesn't like basketball. (tereerreenreereereeereree e )
4. Do Tina live in Istanbul. (corrreerereeeee e )

© A5 b aalal 5 pUaY ALY) ) gaay .. ARl dia BU (641 Cilaladii abaiil JEIS (Y L L

/ o) Jladl g Jaseadl £ buaal aladied dudS o G pii Gl (55 s L \
1. He understands English better now.
2. 1 don’t like basketball.

Jasd) £ Junall (o b padind Al jgudll Jd) Gany oSt €3 U
Verbs of feelings:
love, like, dislike, hate, know, prefer, mean, need, understand, want
alal) & Jiaal) adiiod (da il o e il el o daali Lavie L
1. The forecasts are getting better.

k ANg 4 ileas Jadll jam/is/are saclual)l Jlady) axdios Wls sl WS /

Choose the correct answer:

1. The teacher (know — knows — is knowing) my name.

2. Hurricanes (grow — is growing — grows) bigger.

3. (Do — Are — Does) you prefer coffee?

4. Hisham and Ghadir (want — are wanting — wants) to make a party for their dad.
5. Prices (rise — rises — are rising) these days.

6. The number of people (rise — is rising — are rising) over the time.

© sBaa) 5 Abilal) ae aSin i) oS LS asall @) ) Jany aied )

SOURCE: all the content and pictures are from textbook 2018
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